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Geant4

o= 0,56 cM~1; Tpp, = 25,83 cm~ !

Jx :]Oe—rx
x = 12,29¢cMm; 0,27cMm

JHeprua npoweawero ninydeHus, aB

Al Pb
11,50 12,28 13,00 2,40 2,60
173,7 168 158,5 30,99 31,65
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MalwmnHHoe obyyeHme

df[["log_DER _mass_wis",

“log DER_sum_pt",

“"log PRI_tau_pt",

“"log PRI_lep pt",

“"log PRI_met_sumst™,

"log PRI _met™,

“log DER_pt ratic lep tau™]] = np.leg(df[[
"DER_mass_wis",
"DER_sum_pt",
"PRI_tau_pt",

"PRI_lep pt",
"PRI_met_sumet",
"PRI_met™,
"DER_pt_ratio lep tau"™]]

)

columns = ["log DER mass wis",

"log DER_sum pt",

"log PRI_tau pt",

"log PRI lep pt",

"log_ PRI_met_sumet",

"log_ PRI_met",

"log DER_pt ratio_lep tau"]

df["¥"] = df["Label"].map({
"g": 1,
"b": @,

1)
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